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QUESTION 1

VPRN 300 is confiugred on Node 3 and Node 4 with LDP as the transport. No VPN routes are exchanged between
Node 3 and Node 4. What is the cause of the problem? 
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A. VRF policy configured on Node 3 does not match with vrf-target configured on Node 4 

B. No SDP defined in the VPRN configuration on both nodes 

C. VRF-target mismatch on Node 3 and Node 4 

D. Route-distinguisher mismatch on Node 3 and Node 4 

E. Encapsulation type mismatch on SAPs on Node 3 and Node 4 

Correct Answer: A 

 

QUESTION 2

Node 1 and Node 2 are directly connected running LDP. The system ip address of Node 2 is 10.10.10.1.2. Based on the
following display, why is the sdp down? 
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A. Local SDP id does not match with the remote sdp id. 

B. Far End IP address is not reachable. 

C. Keepalive has to be enable on the SDP. 

D. LDP is not enable on the remote node\\'s interface. 

E. Targeted LDP session is disabled on the remote node. 

Correct Answer: A 

 

QUESTION 3

The LDP session is not down between Node-1 and Node-2. Based on the following configurations, what is the cause of
the problem? 
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A. LDP targeted-session is enabled with no service configured 

B. OSPF adjacency is not up between Node-1 and Node-2 

C. Router id is not advertised by OSPF 

D. LDP is disabled on Node-1 

E. Traffic-engineering is not enabled on Node-2 

Correct Answer: C 

 

 

QUESTION 4

Two direct connected routers are running RIPv2, neighbors are up but there is no route in the RIP database. Review the
configuration information below. What is the potential problem? 
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A. System interface is not added to the RIP protocol 

B. No import policy is configured 

C. No export policy is configured 

D. Split-horizon has to be disabled in RIP 

E. Message-size has to be configured with a non-zero value 

Correct Answer: C 

 

 

QUESTION 5

A LSP is configured with one primary path and one secondary path as below. What configuration is required to make
the LSP non-revertive. Choose the best answer. 

A. Turn off CSPF and remove all the bandwidth reservations 

B. Remove the primary path and configure both paths as secondary 

C. Under asp toRouter3? configure on-revertive 

D. It is not possible to configure the LSP as non-revertive 

E. MPLS fast re-route has to be enabled to make it non-revertive 

Correct Answer: B 
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